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1.6 Graphs of Functions
1.6.2 Exercises
page 107:1,7,9, 14, 21, 24,32, 75

Difference quotient

Find and simplify the difference quotient j—}fc for f(x) = 8x — 15.
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Find and simplify% for f(x) = 2x2 — 4.
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Find and simplifygfor f(x) =+/x.
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Factor 25a* —5a+1
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Gemini

»  Certainly! Here's an example of factoring a trinomial:

Example: Factor the trinomial x* + 5x + 6.

Steps:
1. Identify the coefficients:
« The coefficient of the x* term is 1.
« The coefficient of the x term is 5.
e The constant term is 6.

. Find two numbers that multiply to the constant term (6) and add up to the coefficient
of the x term (5).

+ We need two numbers that multiply to 6 and add to 5.

« The pairs of factors of 6 are: (1, 6) and (2, 3).

e The pair (2, 3) works because2*3=6and2+3=5.
. Write the factored form:

» Since we found the numbers 2 and 3, the factored formis: (x + 2)(x + 3).
. Check (optional):

« To check, we can expand the factored form:

o (Xx+2)(x+3)=x+3x+2X+6=x"+5x+6.

» This matches the original trinomial, so our factoring is correct.

Therefore, the factored form of x* + 5x + 6 is (x + 2)(x + 3).

Please factor 25a*2-5a+15.
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»  Let's factor the expression 25a® - 5a + 15,

1. Find the Greatest Common Factor (GCF):
» Look for a common factor among the coefficients 25, -5, and 15.

« The greatest common factor of these numbers is 5.

2. Factor out the GCF:
« Divide each term by 5:
« 25a’/5=5a"
e« 5a/5=-a
e 15/i5 =13

« Write the factored expression: 5(5a* - a + 3)

3. Check if the trinomial inside the parentheses can be factored further:
Now, we need to see if 5a° - a + 3 can be factored.
To do this we would need to find two numbers that multiply to (5*3)=15 and add to -1.

The factor pairs of 15 are (1,15), (3,5). There is no combination of these factors that will add up
to -1.

Therefore, the trinomial 5a” - a + 3 cannot be factored further using integer coefficients.

Final Answer:

 The factored form of 25a* - 5a + 15 is 5(5a° - a + 3).

Here is a graphical check that our factoring is correct.

424ty
1 = 7
K 1 £2(x)=(x+4)- (x=3) 11|  The two graphs exactly overlap.
fl(x)=x2+x42
f1: (-3.3,-4.41)
14.43 £2: (-3.3,-4.41)
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